



City of Morro Bay
2017 PAVEMENT PRESERVATION PROJECT

Pavement Preservation Resumes:

Pavement Coatings Company, the City's Pavement Preservation contractor, will resume work on Tuesday April 4. Two crews will be working concurrently in different areas. American Pavement Systems, a subcontractor, will be laying a rubber chip seal, designed to increase surface durability and flexibility using recycled tires. Pavement Coatings will begin the final layer of Type 2 Microsurfacing which provides a finish top coat. Work on this final layer is expected to conclude by April 14.

Garbage services will remain unchanged; please have all trash receptacles on the street the night before your regularly scheduled pickup.

Please adhere to the 'No Parking' notice.

Thank you for your patience and for your consideration for all workers in and around these streets.

Please feel free to contact Jarrod Whelan, jwhelan@morrobayca.gov, for any project questions or quality concerns. Time sensitive issues may be directed to Rick Sauerwein, Capital Projects Manager at (805)766-4352 or Pamela Newman at (805)772-6215.

Thank you,

Morro Bay Public Works Department

PAVEMENT PRESERVATION CONSOLIDATED SCHEDULE

Street Name	From	To	Chip Seal Layer (2nd Layer) Date (7:30am-5:30pm)	Micro Seal Layer (3rd & Last Layer)Date (7:30am-5:30pm)
-------------	------	----	--	---

PLEASE NOTE: ALL PAVING SHCEDULES ARE SUBJECT TO WEATHER & MAY BE ADJUSTED AS NEEDED

(Please adhere to the "No Parking" Notice. All work will be done from 7:30am to 5:30pm only.)

ACACIA	MAIN	SHASTA	(No Second layer)	April 4, Tuesday
AVALON	MAIN ST	IRONWOOD	April 5, Wednesday	April 12, Wednesday
AVALON	IRONWOOD	LAUREL	April 5, Wednesday	April 12, Wednesday
BALI	SANDALWOOD	NORTH END	April 4, Tuesday	April 7, Friday
BAYSHORE	MAIN	COUNTRY CLUB	(No Second layer)	April 5, Wednesday
BIRCH AVE	SAN JOAQUIN	ELENA ST	April 4, Tuesday	April 7, Friday
BOLTON DRIVE	RADCLIFF ST	NORWICH AVE	April 6, Thursday	April 7, Friday
BOLTON DRIVE	NORWICH	DOWNING	April 6, Thursday	April 7, Friday
CASITAS	NUTMEG	LAUREL	(No Second layer)	April 6, Thursday
CLARABELLE	RADCLIFF ST	DOWNING	(No Second layer)	April 5, Wednesday
CONEJO	KOA	LAUREL	(No Second layer)	April 10, Monday
CORAL AVE	PAUL CREEK	SAN JACINTO	April 4, Tuesday	April 10, Monday
DRIFTWOOD	WEST END	MAIN	(No Second layer)	April 5, Wednesday
DUNES	WEST END	PINEY WAY	(No Second layer)	April 4, Tuesday
ELENA ST.	MAIN ST	GREENWOOD	April 5, Wednesday	April 10, Monday
ELENA ST.	GREENWOOD	KOA	April 5, Wednesday	April 11, Tuesday
ELM AVE	SAN JACINTO	SAN JOAQUIN	April 4, Tuesday	April 7, Friday
ELM AVE	SAN JOAQUIN	ELENA ST	April 4, Tuesday	April 7, Friday
FIR AVE	SAN JACINTO	SAN JOAQUIN	April 4, Tuesday	April 7, Friday
FIR AVE	SAN JOAQUIN	ELENA ST	April 4, Tuesday	April 7, Friday
GREENWOOD	SEQUOIA	SAN JACINTO	April 5, Wednesday	April 10, Monday
GREENWOOD	SAN JACINTO	SAN JOAQUIN	April 5, Wednesday	April 10, Monday
GREENWOOD	SAN JOAQUIN	ELENA ST	April 5, Wednesday	April 10, Monday
GREENWOOD	ELENA ST	AVALON	April 5, Wednesday	April 11, Tuesday
HARBOR ST.	MORRO BAY BLVD	PINEY WAY	April 6, Thursday	April 11, Tuesday
HILL ST	MAIN ST	SUNSET CT	April 5, Wednesday	April 6, Thursday
HILLVIEW ST.	BAYVIEW AVE	SUNSET AVE	April 5, Wednesday	April 6, Thursday
KENNEDY WAY	QUINTANA	SHASTA	April 6, Thursday	April 12, Wednesday
KOA	CONJEO	LAUREL	(No Second layer)	April 4, Tuesday
KOA	CONJEO	NORTH END	(No Second layer)	April 10, Monday
LAUREL	NORTH END	CUESTA	(No Second layer)	April 4, Tuesday
LAUREL	CUESTA	CONEJO	(No Second layer)	April 10, Monday
LAUREL	CONEJO	SOUTH END	(No Second layer)	April 7, Friday
LUZON ST	BEACHCOMBER	END	April 4, Tuesday	April 7, Friday
LUZON ST	MAIN ST	TIDE AVE	April 4, Tuesday	April 6, Thursday
LUZON ST	TIDE AVE	PANORAMA DR	April 4, Tuesday	April 6, Thursday
MAPLE	NORTH END	CUESTA	(No Second layer)	April 4, Tuesday
MINDORO	BEACHCOMBER	END	April 4, Tuesday	April 6, Thursday
MINDORO	MAIN ST	TIDE AVE	April 4, Tuesday	April 6, Thursday
MINDORO	TIDE AVE	PANORAMA DR	April 4, Tuesday	April 6, Thursday

MONTEREY	SURF	MORRO BAY BLVD	<i>(No Second layer)</i>	April 5, Wednesday
NAPA	NORTH END	HARBOR	<i>(No Second layer)</i>	April 4, Tuesday
NUTMEG	NORTH END	CUESTA	<i>(No Second layer)</i>	April 4, Tuesday
NUTMEG	CUESTA	CASITAS	<i>(No Second layer)</i>	April 4, Tuesday
NUTMEG	CASITAS	SOUTH END	<i>(No Second layer)</i>	April 6, Thursday
PACIFIC ST	KINGS ST	KERN AVE	April 6, Thursday	April 10, Monday
PANORAMA	MINDORO	TRINIDAD	April 4, Tuesday	April 6, Thursday
PINEY WAY	MORRO BAY	SOUTH ST	April 6, Thursday	April 12, Wednesday
PINEY WAY	SOUTH ST	OLIVE ST	April 6, Thursday	April 11, Tuesday
PINEY WAY	OLIVE ST	LUISITA	April 6, Thursday	April 11, Tuesday
PINEY WAY	LUISITA	MAIN ST	April 6, Thursday	April 11, Tuesday
PONDEROSA	IRONWOOD	END	April 5, Wednesday	April 11, Tuesday
PRESCOTT DR	RADCLIFF ST	SOUTH END	April 6, Thursday	April 10, Monday
SAN JUAN ST	IRONWOOD	KOA	April 5, Wednesday	April 6, Thursday
SHASTA	ACACIA	MAIN	<i>(No Second layer)</i>	April 5, Wednesday
SIENNA	BEACHCOMBER	TERRA ST	April 4, Tuesday	April 7, Friday
SIENNA	WEST END	TERRA ST	<i>(No Second layer)</i>	April 7, Friday
SUNSET AVE	HILL ST	HILLVIEW ST	April 5, Wednesday	April 6, Thursday
TUSCAN	BLANCA	WHIDBEY	April 4, Tuesday	April 6, Thursday
VASHON ST	TIDE AVE	MAIN ST	April 4, Tuesday	April 6, Thursday
VISTA	SHASTA	PINEY	<i>(No Second layer)</i>	April 5, Wednesday
WALNUT	MAIN	SHASTA	<i>(No Second layer)</i>	April 4, Tuesday
ZANZIBAR ST	PANORAMA DR	MAIN ST	April 4, Tuesday	April 6, Thursday

**If a street is not identified on this list, it will be paved at a later date to be determined.*

MICRO SEAL SCHEDULE - April 3 to April 7

Monday

<u>Street</u>	<u>Limits</u>

Tuesday

<u>Street</u>	<u>Limits</u>
Acacia	Main to Shasta
Dunes	West End to Piney
Koa	Cuesta to Laurel
Laurel	N End to Cuesta
Maple	N End to Cuesta
Napa	N End to Harbor
Nutmeg	N End to Cuesta
Nutmeg	Cuesta to Casitas
Walnut	Main to Shasta

Wednesday

<u>Street</u>	<u>Limits</u>
Bayshore	Main to Country Club
Clarabelle	Radcliff to Downing
Driftwood	W End to Main
Monerey	Surf to Morro Bay Blvd
Shasta	Acacia to Main
Vista	Shasta to Piney

Thursday

<u>Street</u>	<u>Limits</u>
Casitas	Nutmeg to Laurel
Hill	Main to Sunset
Hillview	Bayview to Sunset
Luzon	Panorama to Main
Mindoro	Beachcomber to E End
Mindoro	Panorama to Main
Nutmeg	Casitas to SEnd
Panorama	Trinidad to Mindoro
San Juan	Ironwood to Koa
Sunset	Hillview to Hill
Tucson	Blanca to Whidbey
Vashon	Tide to Main
Zanzibar	Panorama to Main

Friday

<u>Street</u>	<u>Limits</u>
Bali	Sandalwood to E End
Birch	San Joaquin to Elena
Bolton	Radcliff to Downing
Elm	San Jacinto to Elena
Fir	San Jacinto to Elena
Laurel	Conejo to S End
Luzon	Beachcomber to E End
Sienna	W End to Terra

MICRO SEAL SCHEDULE - April 10 to April 14

Monday

<u>Street</u>	<u>Limits</u>		
Laurel	Cuesta	to	Conejo
Koa	N End	to	Conejo
Conejo	Koa	to	Laurel
Greenwood	Sequoia	to	Elena
Elena	Main	to	Greenwood
Coral	Island	to	San Jacinto
Precott	Radcliff	to	SEnd
Pacific	Kern	to	Kings

Thursday

<u>Street</u>	<u>Limits</u>

Tuesday

<u>Street</u>	<u>Limits</u>		
Elena	Greenwood	to	Koa
Greenwood	Elena	to	Avalon
Ponderosa	Ironwood	to	N End
Harbor	Piney	to	Morro Bay Blvd
Piney	South	to	Bayshore

Friday

<u>Street</u>	<u>Limits</u>

Wednesday

<u>Street</u>	<u>Limits</u>		
Avalon	Main	to	Laurel
Kennedy	Quintana	to	Piney
Piney	Morro Bay	to	South



3CS= 3 Layer System (Hold off 1 ft from edge)
 3CSL= 3 Layer System (11' on each side of the centerline)
 3CSLF= 3 Layer System (11' on each side of the centerline)
 3FCS= 3 Layer System (Hold off 1 ft from edge)
 CS= Cape Seal Full Width (Hold off .5 ft from edge)
 CSL= Cape Seal Limited - (11' on each side of the centerline)
 DCS= Double Chip Seal - (Hold off .5 ft from edge)

Date	Day	Streets	SF	SY
Tue, Apr 04	1	18	310,050	34,450
Wed, Apr 05	2	13	294,910	32,705
Thu, Apr 06	3	10	240,858	26,184
				93,339

Working hours: 7:30 am to 5:30 pm

**** Need Field Measurements**

16-445 City of Morro Bay- Sub to Pavement Coatings

Day	Treatment	Street Name	From	To	Length	Width	Street Area	SY
1	3CS	CORAL AVE	PAUL CREEK	SAN JACINTO	1700	21	35,700	3,967
1	3CS	SIENNA	BEACHCOMBER	TERRA ST	1110	20	22,200	2,467
1	3CS	BALI ST	SANDALWOOD	END	620	20	12,400	1,378
1	3CS	LUZON ST	BEACHCOMBER	END	640	21	13,440	1,493
1	3CS	MINDORO	BEACHCOMBER	END	640	21	13,440	1,493
1	3CS	ZANZIBAR ST	PANORAMA DR	MAIN ST	900	20	18,000	2,000
1	3CS	TUSCAN	BLANCA	WHIDBEY	700	24	16,800	1,867
1	3CS	VASHON ST	TIDE AVE	MAIN S	385	26	10,010	1,112
1	3CS	PANORAMA	MINDORO	TRINIDAD	1400	18	25,200	2,800
1	3FCS	MINDORO	PANORAMA DR	TIDE AVE	460	22	10,120	1,124
1	3FCS	MINDORO	TIDE AVE	MAIN ST	430	22	9,460	1,051
1	3CS	LUZON ST	PANORAMA DR	TIDE AVE	460	22	10,120	1,124
1	3CS	LUZON ST	TIDE AVE	MAIN ST	425	22	9,350	1,039
1	CS	BIRCH AVE	SAN JOAQUIN	ELENA ST	615	35	21,525	2,392
1	CS	FIR AVE	SAN JOAQUIN	ELENA ST	535	35	18,725	2,081
1	CS	FIR AVE	SAN JACINTO	SAN JOAQUIN	630	35	22,050	2,450
1	CS	ELM AVE	SAN JACINTO	SAN JOAQUIN	626	35	21,910	2,434
1	CS	ELM AVE	SAN JOAQUIN	ELENA ST	560	35	19,600	2,178



3CS= 3 Layer System (Hold off 1 ft from edge)
 3CSL= 3 Layer System (11' on each side of the centerline)
 3CSLF= 3 Layer System (11' on each side of the centerline)
 3FCS= 3 Layer System (Hold off 1 ft from edge)
 CS= Cape Seal Full Width (Hold off .5 ft from edge)
 CSL= Cape Seal Limited - (11' on each side of the centerline)
 DCS= Double Chip Seal - (Hold off .5 ft from edge)

Date	Day	Streets	SF	SY
Tue, Apr 04	1	18	310,050	34,450
Wed, Apr 05	2	13	294,910	32,705
Thu, Apr 06	3	10	240,858	26,184
				93,339

Working hours: 7:30 am to 5:30 pm

**** Need Field Measurements**

16-445 City of Morro Bay- Sub to Pavement Coatings

Day	Treatment	Street Name	From	To	Length	Width	Street Area	SY
2	3FCS	ELENA ST.	GREENWOOD	KOA	890	32	28,480	3,060
2	CS	ELENA ST.	MAIN ST	GREENWOOD	970	41	39,770	4,419
2	3CSLF	GREENWOOD	ELENA ST	AVALON	1985	22	43,670	4,852
2	3CSLF	GREENWOOD	SAN JOAQUIN	ELENA ST	545	22	11,990	1,332
2	CSL	GREENWOOD	SAN JACINTO	SAN JOAQUIN	625	22	13,750	1,528
2	CS	GREENWOOD	SEQUOIA	SAN JACINTO	620	22	13,640	1,516
2	CS	AVALON	IRONWOOD	LAUREL	290	30	8,700	967
2	3CS	AVALON	MAIN ST	IRONWOOD	1420	30	42,600	4,967
2	3CS	SAN JUAN ST	IRONWOOD	KOA	485	20	9,700	1,078
2	DCS	PONDEROSA	IRONWOOD	END	910	20	36,400	4,044
2	3FCS	HILL ST	MAIN ST	SUNSET CT	785	24	18,840	1,900
2	3CS	SUNSET AVE	HILL ST	HILLVIEW ST	720	21	15,120	1,680
2	3CS	HILLVIEW ST.	BAYVIEW AVE	SUNSET AVE	490	25	12,250	1,361
3	3CSLF	BOLTON DRIVE	RADCLIFF ST	NORWICH AVE	670	22	14,740	1,638
3	3CSLF	BOLTON DRIVE	NORWICH	DOWNING	770	22	16,940	1,882
3	3CS	PRESCOTT DR	RADCLIFF ST	NORWICH AVE	815	33	26,895	2,988
3	CS	PINEY WAY	MAIN ST	LUISITA	870	40	34,800	3,867
3	3FCS	PINEY WAY	LUISITA	OLIVE ST	777	22	17,094	1,899
3	3FCS	PINEY WAY	OLIVE ST	SOUTH ST	585	28	16,380	2,012
3	3CSLF	PINEY WAY	SOUTH ST	MORRO BAY	1560	22	34,320	3,813
3	3CSLF	KENNEDY WAY	QUINTANA	SHASTA	847	22	18,634	2,070
3	3FCS	HARBOR ST.	MORRO BAY	PINEY WAY	665	37	24,605	2,956
3	3CS	PACIFIC ST	KINGS ST	KERN AVE	1350	27	36,450	3,058